EARAROBREBRT —5 XN—ZXBISH—F 20224E108168H (H) dmE412H

(M8 s hREiEsl C1 HSHR—ig ‘(fﬁ} ® ‘I%EH?’JFE‘?] - | & 1300 ®E
[xE%] 1% :1,600,000 3 . 23#&:560,000H . 33&:320,000 . 43&:240,000 9 . 5 & :160,000 3
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
. " ZHEHT : -2-2- - TiE=sE (F0)
17 7onou—x it 6 za 1.(2_3).5 2-2-2-1 |39.4 5 (5:)57) BRd
R:ZAJU—=rbe—0O— H:AVRLYavhE g e
< <, 0 78) | |BE4A : -5-6- - E#iEE (B4)
2 17| g | BY=ITVINA7 4 8 el 1(.32/34.)6 5-5-6-4 | 39.3 1 (4_622) S
RIIVINMATA—H— B:TA7AXO—F £ 2
o~ t 8 | ERERI 1:23.7 9-8-8-6 |38.7| -— 9 533 | RECH (BH)
3N 4| VYR IFR * 56.0 @) w3 |8 UIu—-vv7
R:F4—TFAVNT B:557 BT 7—LA
— o4 | BESE 1:23.7 4-4-4-2 395 — | 8 | 459 |HAESE) (RED
4y 6| N1 BEFY 54.0 F9%) (5 | MRS
R:STU—FA F:ARNU—F— @) #BI1—RL—vavEEI7
— C RA—R 4 5 | LEET 1:24.2 8-7-7-5 |39.5| -— 10 | 476 |EEIEE (S5
5l5l5 Fr—RO—R 5.0 21/2) vy |BEOE
RiFVVH/FEF BIFARNAB J=YYTr—L
= V5 Hehiga) : -11-9- - =l )
6 )| SvE—TxVFY it 6 drs 1.(2343.9 11-11-9-8 | 39.4 1 (4_2;) ;E.#ﬁg ]
RiF4—FAVNT~ B:70-LT3VTY T A N1 K5
o= <, BRER : ~10-10- - 2)IIEK (54
71111 INSITALFTVY "5 20 1('12;2')0 10101091 39.7 ¢ 128)9 JEI:IE‘J*EI?% =0
R:IALINS Ry IR B:IATSR [AEZSY K
4 | BIR 1:25.3 1-1-1-3 | 42.0| - 2 495 |ITEEER (B
8l7|9|¥EZL # 56.0 a1/ #) | ) AFPRK—T VTR
RIET7RAT B:hHEy LENEKE
~ o4 | BAEKX 1:25.9 7-9-11-11 | 40.8 | — 7 | 486 | IEEED (BH)
9810/ 7/La—> 56.0 3) (-5) | EHSER "
Rib—trya—sy F:IU—IvVI)L RERIS
O SV~ O~ MeRiG : -6-3- - A (&)
10 3| AN/ IvEVD s 4 56.0 1'(28'1 6637 418 4 5’_327) EOTRE
RINBIVFSY B:FADFv—L RER 5
° =~z it 3 | BEEX 1:26.6 3-3-5-10 | 42.5| - 3 471 | BPSF (B
111811 AN/ VYA 54.0 2 1/2) (3) | AR
RO/ UwEk— B:YSPIEX hEHIS
@ 1—F—&RIEL
13—7— 9,7,11,6,8,3,10,5,4,1,2
230—F— 9,7,11,6,8,3,5,4,10,1,2
30—7F— 9,7,3,6,11,8,5,4,2,1,10
43—F— 7,6,9,8,5,4,3,2,1,11,10
0 ILRE
BB 7 980M4 JA R 7-8 440/ e B 6-7 470 3EE 4-7-8 17,2703
B B 7 280M 4-7 5,580M 5 & 7-8 1,2304 3EH 7-8-4 76,730M
8 150/ 4-8 2,380H B8 7-8 3,500
4 900

ABIC OV TRUTEREERRODDZE. THRIIZEL.



